ANSWERS Unit Eight Writing Practice - Fame

Aims: Dealing with words often confused | Using appropriate vocabulary

Avoiding repetition by the use of synonyms

Part 1: Vocabulary

1 In IELTS Writing Tasks, it is important to demonstrate that you have a wide vocabulary
by avoiding unnecessary repetition. Match the words 1-9 with the words a-i that have a
similar meaning.

1 fame a short-lived

2 ambition b icon

3 achievement ¢ accomplishment
4 shortcoming d approve

5 idol e stardom

6 transient f aspiration

7 endorse g notorious

8 image h flaw

9 infamous i impression

Answers
1. e - stardom

2. f - aspiration

accomplishment

flaw
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short-lived
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approve

. i - impression
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. g - notorious

2 Knowing which words go together is important. Complete the sentences 1-6 with words
from Exercise 1 above to form common collocations. Make any necessary changes to part
of speech or number.

1 When meeting someone for the first time, it is natural to want to make a good

Although he is undoubtedly famous, his character is deeply

2 When starting a new project, it is common to be full of hopes and

3 Many people see celebritiesas beingall_____and no substance.
4 People often migrate to cities seeking and fortune.

5

6

She aspired to being a fashion

Answers
1. impression

2. aspirations (dreams)
3. image (style)

4. fame

5. flawed

6. icon




Sometimes an idea can be expressed with greater or lesser degrees of strength by a group
of words or phrases with similar meanings. For example: satisfactory good excellent.
Arrange the groups of words below from left to right in terms of strength of meaning.
idolise

recognmon

legendary well-known 3 like admire
worthless 4 praise acclaim

1 famous
2 bad imperfect

Answers
1. well-known, famous, legendary

2. imperfect, bad, worthless
3. like, admire, idolise

4. recognition, praise, acclaim

The adverbs below can be placed at the beginning of a statement to show your attitude
to what follows. Rewrite the sentences 1-7, beginning each sentence with an adverb that
expresses the sentence in brackets.

fortunately interestingly surprisingly
importantly obviously unfortunately
inevitably

1 Many people who achieve fame as children struggle to live a normal adult life. (This
phenomenon is bound to happen.)

2 Many people who become famous as children struggle to live a normal life in
adulthood. (This is not a good thing.)

3 Only a small percentage of people become truly obsessed with celebrities. [This is a
good thing.)

4 The vast majority of respondents were critical of the amount of celebrity coverage in
the news. (I didn't expect this.)

5 Fame can confer certain advantages. (This is clear.)

6 The majority of children surveyed said that they did not want to be famous. (I find this
interesting.)

7 Many children were critical of the bad behaviour of people in the public eye. (This idea
is significant.)

Answers
1. Inevitably

. Unfortunately
Fortunately
Surprisingly
Obviously

Interestingly

S L T

Importantly

Some of the adverbs above can be modified by the use of: more, less, not, somewhat.
Complete the sentences 1-4 below with an adverb and suitable modifier.

1 Fame can be stressful. (This is not as clear as the previous point.]

2 The majority of children said they did not want to emulate the bad behaviour of their
idols. (This idea is more significant than the previous one.]

3 People find notorious criminals quite fascinating. (This is to be expected.)

4 The children of famous people rarely seek fame themselves. (This is a bit surprising.)

Answers
1. Less obviously

2. More importantly
3. Not surprisingly

4. Somewhat surprisingly




E’art 2: Practice exercises: Task 1 o Answers
1. past

Sentences 1-8 describe information in the table below, which compares the results of
a survey of children’s career aspirations in 1980 and 2010. Each sentence contains two
commonly confused words in italics. Underline the correct word.

rank | 1980 % | 2010 %
L A I D R R
1 14 13

Teacher Sports star

2. percentage (/ number)

2 Businessman/woman 9 Actor/Actress 12
3 Doctor/Nurse 8  Popular singer 1" 3 . exce pt
4 Scientist 7  Astronaut 9
5 Lawyer 6  Lawyer 8
6 Vet 6  Businessman/woman 8
7 Sports star 5  Doctor/Nurse 3 4 . rose
8 Astronaut 4 Teacher 6
9 Banker 4 Chef 5
10 Archaeologist 3 Vet 4

. than

1 Children today appear to have a greater interest in careers associated with celebrities
than did children in the passed/past.

2 Surprisingly, the number/percentage of children wanting to work in medicine 6 . Smal Ier

decreased.

3 There were changes in the rankings of all of the occupations accept/except that of
lawyer.

. In contrast

4 The percentage of children choosing ‘sports star’ as one of their top ten careers rose/
raised.

. feature

5 In 2010, a higher proportion of children wanted to work in entertainment then/than in
traditional professions such as medicine.

6 A smaller/fewer percentage of respondents opted for ‘teacher’ in 2010 than in 1980.

7 In contrast/On the contrary, a much higher percentage of those surveyed chose ‘sports
star’, which occupies first position in the 2010 list.

8 Some professions that did not appear in the 1980 rankings, feature/future prominently
in the 2010 list.

Now complete the sentences 9-13 below with some of the words in italics above. Answe rs
9 The percentage of children wanting to be an astronaut ___________ 9 rose
10In2010,a_______ percentage of children wanted to be a vet. '

11 A smaller percentage of children today want to work in business and banking than did

childreninthe 10 Sma"el’

12 Not surprisingly, ‘banker’ didnot_____in the 2010 List.
13 All of the professions in the 1980 list appeared in the 2010 list ________ scientist,

astronaut and banker. 1 1 . paSt
12. feature

13. except (actually, “astronaut” is on the list!!)




The paragraph below contains six informal expressions in italics. Replace them with more
appropriate words or expressions.

There were (1) really big changes in the children’s career aspirations between 1980 and
2010. (2) Lots of traditional professions either declined in popularity or disappeared.

(3) E.g. in 1980, 14 per cent of respondents wanted to be teachers whereas thirty years
later, only & per cent of those surveyed chose this profession. (4] Amazingly, scientist,
ranked fourth in 1980, (5) didn't even (6] show up in the top ten occupations of 2010.

1 4
2 5
3 6

Answers

1. significant; great
2. Many

3. For example
4. Surprisingly
5. did not

6. appear; feature

The passage below contains some unnecessary repetition. Replace the words 1-6 in italics
with synonyms from Exercise 1 on page 82. Make any other necessary changes to the words.

A number of professions typically associated with celebrities, which were not included
in the 1980 list, appeared among the top ten in 2010. Acting and singing were
particularly popular, ranking second and third respectively. Chef, chosen by five per cent
of respondents, also (1) appeared in the 2010 list. Other (2] professions increased
significantly in popularity. The percentage of (3] respondents (4) choosing sports star and
astronaut more than doubled. The only (5) profession that did not change in the rankings
was lawyer, which (6) appeared in fifth place in both 1980 and 2010.

1 4
2 5
3 6

Answers
1. featured

2. occupations / careers

3. those surveyed / people who responded
4. opting for / selecting

5. career / occupation

6. occupied

4 The words in italics in the extracts 1-7 from unit 2 below are too informal. Rewrite the
sentences using more appropriate words and phrases.
1 One of the biggest steps in civilisation is the development of modern ways of making and
getting food ready.

2 Convenience foods have now become the done thing in many societies.

3 Although some people [ove traditional cooking practices and believe they will be around
for a long time, ...

4 In more traditional societies, where families tended to be big, it made economic sense
for one person to give him/herself to time-consuming jobs at home such as growing and
preparing food.

5 Nowadays, people by and large live in ever smaller family units

If each family were to spend hours and hou i
rs growing and processing food, thi
be a silly use of society’s human resource. ’ ’ s would

... the increase in the number of grown ups, especiall ith ki
el i ps, especially women with kids, who work in




Exercise 4

Suggested answers ‘
1 ngge of the most significant advances in civilization is the development of modern methods of food production and
preparation.

i i ieties.
2 Convenience foods have now become the normin many socie _ ‘ N N
Although some people idealise traditional cooking practices and believe they wa_l prevail indefinitely, ... o
4 In more traditional societies, where families tended to be large, it made economic sense for one person to devote
him/herself to time-consuming domestic tasks such as growing and preparing food.
ive | ily units.
5 Nowadays, people tend to live in ever smaller family . _ _ o
6 If each family were to spend large amounts of time growing and processing food, this would be a poor use of society's
human resource. _ ‘ ‘ '
7 ...the increase in the number of adults, especially women with children, who work in full-time employment.

w

(4]

The table below shows the results of an opinion poll of media coverage. Read the Answe rs
description and circle the most appropriate option in the items 1-7 in italics. Then

underline the expressions the writer has used to avoid repeating the word respondents. 1 - rece|V| ng

Too much coverage of: Too little coverage of:
Celebrity gossip 42 Good news 18 . pe rce ntag e
Political leaders 10

War/Conflict 9

Crime

Poverty/Homelessness 1"
Environment 10

8  Education v
The economy/recession 8 Health 8
Sports 5

. hegative

International news 4

The table presents the findings of a public opinion survey of media coverage.

On the whole, the respondents felt there was too much coverage of individuals in the 4 ) Sma”
entertainment industry and politics, ‘bad’ news and sports. Dissatisfaction with the

amount of coverage given to celebrity gossip was particularly high at 42 per cent.

Individuals in politics were also seen as (1) receiving/getting too much attention by 5

one in ten of those surveyed. A similar (2) number/percentage of respondents said the

media focused too much on (3) awful/negative news stories, war and the recession, for

example. At the other end of the scale, a (4) small/few percentage of people questioned 6

said there was too much sports news. (5] On the contrary/On the other hand, respondents

said that there (6) wasn t/was not enough coverage of good news, social and issues and
international news. Nearly one in five of those who took partin the survey felt that there
was not enough focus on good news. A relatively high percentage also felt that there was 7 . there appea I'S tO be
too little coverage of issues relating to quality of life: poverty, the environment, education

and health. A small percentage (4 per cent) wanted more international news.

. On the other hand,

. was not

In short, (7) thereappearj to be/you cau[dsaytherefwasa mismatch bel;ween the types of Underline those Surveyed, people queStIOned,
news stories covered and the stated preferences of the survey respondents. -_— .
those who took part in the survey; survey
respondents.
on the other hand = used when

comparing different or opposite facts or
ideas.

E.G. On the one hand I want to sell the
house, but on the other hand I can't
bear the thought of moving.

on the contrary = used for showing that
you disagree completely with what has
just been said.

E.G. It wasn't a good thing; on the
contrary it was a huge mistake.

Additional Information_

http://www.ielts-practice.org/linking-words-on-the-contrary-on-the-other-hand/



http://www.ielts-practice.org/linking-words-on-the-contrary-on-the-other-hand/
http://www.esl.ph/qa/difference/on-the-other-hand-vs-on-the-contrary.html




Part 2: Practice exercises: Task 2

The language required for I[ELTS Writing Task 2 is often quite predictable. Listed below
are ten common expressions. Write one or two words with a similar meaning for each.

1 advantage = 6 problem
2 disadvantage 7 solution
3 opinion 8 important
4 however 9 issue

5 people 10 situation

part 2: Practice exercises: Task 2

The language required for IELTS Writing Task 2 is often quite predictable. Listed below
are ten common expressions. Write one or two words with a similar meaning for each.

1 advantage 6 problem

2 disadvantage 7 solution

3 opinion 8 important
4 however 9 issue
5 people 10 situation

Answers

1. benefit; positive consequence; positive result;
merit; pro; upside;

2. drawback; negative consequence;
consequence; shortcoming; defect; downside;

3. view; point of view; idea; thought; perception;
feeling; impression; think;

4. nevertheless; in contrast; at the same time;
but; although;

5. individuals; those who : residents;
citizens; community; population;

6. dilemma; difficulty; trouble; issue; puzzle
7. approach; strategy; resolution; remedy; key

8. significant; noteworthy; essential; vital;
considerable; principle; remarkable; meaningful;
fundamental; prominent;

9. topic; concern; question; challenge; problem;

10. circumstances; context; condition; status;
set up; case; position

Study the four introductions a-d to an essay written in response to the question:
In your view, why have celebrities become such an important feature of modern life?
Answer questions 1-2.

1 Which is the best introduction?
2 What is the problem with each of the other three?

a There are more and more television programmes, magazines, and newspaper
articles about celebrities these days. The “cult of celebrity’ is one of the one of
the things about modern pop culture that really stands out. Some people say that
because there have always been famous people around, this isn’t anything new. But
| say that there’s something different about fame today.

b The number of television programmes, magazines, and newspaper articles focusing
on the lives of celebrities has rocketed over the last few decades. Indeed, the "cult
of celebrity’ is the defining feature of modern popular culture. People say that,
because there have always been famous people, this is not a new phenomenon.
However, | insist that fame today is unique to our times.

¢ The number of television programmes, magazines, and newspaper articles focusing
on the lives of celebrities appears to have grown considerably over the last few
decades. Indeed, the ‘cult of celebrity’ seems to be one of the defining features of
modern popular culture. Some people insist that, because there have always been
famous people, this is not a new phenomenon. However, | would suggest that there
are aspects of fame today that are particular to our times.

d The number of television programmes, magazines, and newspaper articles focusing
on the lives of celebrities appears to have grown considerably over the last few
decades. Indeed, the ‘cult of celebrity’ seems to be one of the defining features
of television programmes, magazines and newspapers. Some people insist that,
because there have always been famous people, the “cult of celebrity’ is not a
new phenomenon. However, | would suggest that there are aspects of the “cult of
celebrity’ that are particular to our times.

Answers
1. Paragraph C is the best.

2. Paragraph A is too informal, Paragraph B has
too few hedges, Paragraph D has too much
repetition.




8 Read the first two body paragraphs of the essay on page 86. Improve the text by:
1 changing the informal expressions into more formal language. (The first one has been
marked for you in italics.) ‘
2 adding hedges to the statements 1-5 that are too sweeping. Use the hints to help you.

—_—

Add a hedge to In the past, people (1) became
show that this is ‘ famous for doing great things. Einstein,

| a generalisation Dickens, and Gandhi, for instance, were

all celebrated for what they'd done for

science, literature and public life. People

Add a hedge to ‘ were interested in them (2)

show that this because they were role models. One of

is not the only the reasons fame today is so different is Add a hedge to
reason. because celebrities (3) ______"'meeta | indicate that this

range of people’s emotional needs, not just
the need for role models. Lots of people in

the public eye today are famous simply for

being famous. The public are (4)

interested in them because, when news of

seems to be what
happens.

Add a hedge to
indicate that this

scandals comes out into the open, they doesn't happen
Add a hedge that 5] getthe satisfaction of feeling all of the time
indicates this is a superior to people they've been encouraged -
possibility. to envy.

Answers
1.

2.
(1) generally

(2) primarily; mainly;
(3) appear to; seem to
(4) often

(5) can; can experience get

doing great things = their remarkable efforts;
their achievements

what they’d done = their contributions to fer
science...

Lots of people = The majority of people; Many
people

comes out into the open = emerges

Exercise 8
Suggested answer

In the past, people (1) generally became famous for their achievements. Einstein, Dickens, and Gandhi'.for instance,
were all celebrated for their contributions to science, literature and public life. People were interested in them

(2) primarily because they were role models.

One of the reasons fame today is so different is because celebrities (3] appear to meet a range of people’s emotllonal
needs, not just the need for role models. Many celebrities today are famous simply for bemg famous._The pubhc are
(4) often interested in them because, when news of scandals emerges, they (5] can experience the satisfaction of
feeling superior to people they have been encouraged to envy.




9 Read the third body paragraph and the conclusion to the essay below. Reduce the

unnecessary repetition in the text by replacing repeated words with synonyms.

Another reason fame today is unique is the desire for ordinary people to explore

the nature of fame itself. Many celebrities that have emerged from reality television
programmes, for example, come from the same walks of life as ordinary people. Reading
about or watching such celebrities allow ordinary people to imagine what it might be like
to suddenly find themselves in the public eye. Celebrities may, therefore, allow ordinary
people to indulge in wish fulfilment fantasies without having to worry about whether they
are capable of significant achievement.

The third and perhaps most significant reason that celebrities play such an important role
in modern life is the fact that commercial pressures encourage media organisations to
focus on information that is immediately attractive to ordinary people. As we have seen,
celebrities appear to tap into powerful emotional needs, the need to feel superior, the need
to imagine oneself to be the centre of attention; therefore, news about celebrities sells.

i Exam tip: Remember that some repetition is acceptable and can even be effective as

i ameans of signposting key ideas. If you do not know suitable synonyms for some key

i terms, it is better to repeat these words than to use expressions that are a poor match
or inappropriate to the context.

Answers _
...for example, come from the same walks of life

as erdinary-peopte the viewing public. Reading
about or watching such eetebrities people allow

orchinrary-peopte ordinary individuals to
imagine what it might be like to suddenly find
themselves in the public eye. Gelebrities People
who are famous for being famous may,

therefore, allow erdirary-peoepie unremarkable /

regular people to indulge...

...Is immediately attractive to erdirary-peopte

the consumer. As we have seen, eelebrities
the “cult of celebrity” appears to tap into...the
centre of attention; therefore, rRews-about
cetebrities celebrity news sells.

10  Read the concluding paragraph below. Make any changes to word choice and style that
you think necessary.

In brief, the nature of fame today is different from fame in the past. There's a greater need
to denigrate, rather than celebrate the actions of people in the public eye, as well as huge
interest in fame itself. Whether the public will eventually get tired of denigrating people in
the public eye or of fame itself we'll never know.

Answers

In brief, the nature of fame today is somewhat
different from fame in the past. There appears
to be a greater need to denigrate, rather than
celebrate the actions of people in the public eye,
as well as a htge consuming interest in fame
itself. Whether the public will eventually get

grow tired of denigratingpeople-inthepublic
eye-orofHfame-fiselfwellneverknrow this

remains to be seen.

Note: | removed the Task 1 and 2 Writing practice part, because | use them for the (Friday) Writing Practice.




Part 2: Practice exercises: Task 1

Exercise 1 Exercise 2

1 past 8 feature 1 significant 4 Surprisingly
2 percentage 9 rose 2 Many 5 did not

3 except 10 smaller 3 For example 6 appear

4 rose 11 past .

5 than 12 feature 1Ex:rcrse3d 4 opting f
6 smaller 13 except [l OPUNgIon
- 2 occupations 5 career

7 incontrast g
3 those surveyed 6 occupied
Exercise 4
Suggested answers
1 One of the most significant advances in civilization is the development of modern methods of food production and
preparation.
2 Convenience foods have now become the norm in many societies.

w

Although some people idealise traditional cooking practices and believe they will prevail indefinitely, ...

In more traditional societies, where families tended to be large, it made economic sense for one person to devote
him/herself to time-consuming domestic tasks such as growing and preparing food.

Nowadays, people tend to live in ever smaller family units.

If each family were to spend large amounts of time growing and processing food, this would be a poor use of society’s
human resource.

7 ... the increase in the number of adults, especially women with children, who work in full-time employment.

~

o~ o

Exercise 5

1 receiving, 2 percentage, 3 negative, 4small,

50nthe other hand, éwas not, 7 there appears to be

Underline: those surveyed, people questioned, those who took part in the survey, survey respondents

Part 2: Practice exercises: Task 2

Exercise 6 Exercise 7

Suggested answers 1 Paragraph cis the best.

1 benefit, positive 5 individuals 2 Paragraph a is too informal; paragraph b has too few
conseguence 6 dilemma, difficulty hedges; paragraph d has too much repetition.

2 drawback, negative 7 approach, strategy
consequence 8 significant, noteworthy

3 view, point of view 9 topic, concern

4 nevertheless 10 circumstances, context

Exercise 9

Suggested answer

Another reason fame today is unique is the desire for ordinary people to explore the nature of fame itself. Many
celebrities that have emerged from reality television programmes, for example, come from the same walks of life as
the viewing public. Reading about or watching such people allow ordinary individuals to imagine what it might be

like to suddenly find themselves in the public eye. People who are famous for being famous may, therefore, allow
unremarkable people to indulge in wish-fulfilment fantasies without having to worry about whether they are capable of
significant achievement.

The third, and perhaps most significant reason that celebrities play such an important role in modern life is the fact
that commercial pressures encourage media organisations to focus on information that is immediately attractive to
the consumer. As we have seen, the ‘cult of celebrity’ appears to tap into powerful emotional needs, the need to feel
superior, the need to imagine oneself to be the centre of attention; therefore, celebrity news sells.

Exercise 10

Suggested answer

In brief, the nature of fame today is somewhat different from fame in the past. There appears to be a greater need to
denigrate, rather than celebrate the actions of people in the public eye, as well as a consuming interest in fame itself.
Whether the public will eventually grow tired of these remains to be seen.



